

## EXHIBIT A

<b>Volume (cubic feet)</b>	<b>Basic Review</b>
0 through 20,000	\$220.00
20,001 - - - 40,000	\$318.00
40,001 - - - 60,000	\$420.00
60,001 - - - 80,000	\$528.00
80,001 - - - 100,000	\$630.00
100,001 - - - 150,000	\$732.00
150,001 - - - 200,000	\$912.00
Over 200,000 - - -	\$912.00 plus \$15.00 per each 10,000 cu. ft Over 200,000 cu. ft.

## EXHIBIT B

<b>Number of Sprinkler Heads</b>	<b>Review Fees</b>
0 - 25	\$150.00
25 - 50	\$200.00
51 - 100	\$350.00
Over 100	\$1.00 / sprinkler head over 100 heads
Fire Pumps	\$90.00 per pump
Standpipe systems	\$90.00 per each vertical or horizontal standpipe

## EXHIBIT C

<b>Square Feet</b>	<b>Review Fees</b>
0 - 10,000	\$250.00
For ea. additional 10,000 sq. ft.	\$150.00

EXHIBIT D

	Inspection Type	# Inspections	Fee	Plan Review	Total
1	Concrete & brick patios, stoops, steps (installation and repair)	2 (pre-pour & final)	\$75.00 ea.	N.A.	\$150.00
2	Deck (proposed & replace)	3 (pre-pour, rough & final)	\$75.00 ea.	\$125.00	\$350.00
3	Deck (Repair) (gaurdrails, decking only)	1 (final)	\$75.00	N.A.	\$75.00
3.1	Deck (Repair) (Joist, girders, columns)	2 (rough & final)	\$75.00 ea.	N.A.	\$150.00
4	Shed	2 (pre-pour & final)	\$75.00 ea.	N.A.	\$150.00
5.1	Install above ground pool	1 (final)	\$75.00	N.A.	\$75.00
5.2	If electric heater added	2 (underground, final)	\$75.00 ea.		\$150.00
	Inspection Type	# Inspections	Fee	Plan Review	Total
5.3	Demolition of existing pools (above grade)	1 (final)	\$75.00	N.A.	\$75.00
5.4	Demolition of existing pools (below grade)	1 (final)	\$90.00	N.A.	\$90.00
6	Fence	1 (final)	\$75.00	N.A.	\$75.00
7	Driveway	1 (final) & (base)	\$75.00	N.A.	\$150.00
8	Roof (New or reroof)	1 (final)	\$75.00	N.A.	\$75.00
Note	Village inspectors provide final inspection only. IBC section 110.1 does not require roof installation inspections in terms of attachment or fasteners.				
9	HVAC equipment (individual dwelling units)				
9.1	Furnace (including multi-family)	1 (final)	\$75.00	N.A.	\$75.00
9.2	Air conditioner (including-multi family)	1 (final)	\$75.00	N.A.	\$75.00
9.3	Furnace & Air conditioner (same permit) (including multi-family)	1 (final)	\$125.00	N.A.	\$125.00
9.4	Duct extensions & modifications	1 (rough)	\$75.00	N.A.	\$75.00

10	Security alarms (Wired)	1 (final)	\$75.00	N.A.	\$75.00
11	Water Heater	1 (final)	\$75.00	N.A.	\$75.00
12	Windows & Doors	1 (final)	\$75.00	N.A.	\$75.00
13	Siding / Exterior finishes	1 (final)	\$75.00	N.A.	\$75.00
14	Private sidewalks	1 (prepour)	\$75.00	N.A.	\$75.00
15	Gazebo, trellis, pergola	2 (Rough & final)	\$75.00 ea.	\$125.00	\$275.00
Note a	If foundation / piers added	1 pre-pour	\$75.00	-----	\$75.00
Note b	If light framed stick built (non pre-assembled)	3 (prepour, rough, final)	\$75.00 ea	\$125.00	\$350.00
16	Plumbing fixture no plans-commercial	2	\$90.00 ea.	-----	\$180.00
16.1	Plumbing fixture no plans - residential	2	\$75.00 ea.	-----	\$150.00
16.2	Commercial hot water heaters	1	90.00	-----	\$90.00
17	Retaining wall	2 (pre-pour & final)	\$75.00 ea.	N.A.	\$150.00
17.1	> 3' in height (engineering plans required)	2 (pre-pour & final)	\$75.00 ea.	\$125.00	\$275.00
18	Subsurface drain tile	1	\$75.00	N.A.	\$75.00
18.1	Subsurface drain tile ties to Village infrastructure	2 (Rough & Final)	\$150.00	N.A.	\$150.00
19.0	Commercial building reviews (No plans)	1	\$90.00	\$90.00	\$180.00

## EXHIBIT E

	<u>New Heating Equipment</u>	<u>New Cooling Equipment</u>
Single Family Residential (including multi family) : -----	\$75.00 per unit	\$75.00 per unit
Heating & cooling under same permit		
	\$125.00 total	

Commercial, industrial	\$60.00 per 1,000 sq. ft.	\$60.00 per 1,000 sq. ft.
Residential common areas -----		
	Minimum \$90.00	Minimum \$90.00
	<u>Alterations for Heating Equipment</u>	<u>Alterations for Cooling Equipment</u>
Residential Alteration -----	\$75.00	\$75.00
Other Use Alterations -----	50% of new construction	50% of new construction
	\$90.00 min.	\$90.00 min.
Commercial replacement -	\$90.00 per unit	\$90.00 per unit
Commercial Hoods	Type 1 hood ----- \$270.00	
	Type 2 hoods ----- \$180.00	

See "Additional Fees" when applicable